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¢ The figures in the margin indicate full marks
for the questions.

Part I (& -<15%)

Q. No. 1 (a-f) carries 1 mark each 1x6= 6
Q. No. 2-7 carmes 2 marks each 2x6 =12
- Q. No. 8=12 carries 4 marks each 4x5 =20
Q. No. 13 & 14 carries 6 marks each 6x2 =12
Total =350
Part II' (% -=%¥) <
Q. No. 15 (a-=f) camies 1 mark each 1x6= 6 2%
Q. No. 16 -21 carries 2 marks each 2x6 =12 FA
Q. No. 22-26 carries 4 marks each 4x5 =20 \F‘
Q. No. 27 & 28 carries-6 mérks each 6x2 = 12 -
Total =50

Total (Part I & II): 50+ 50= 100
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PART A — & 9j2%|

i ?)- Defline service , ‘ |
(PR #ges! i | | -
(b) Fill in the blank: & [ e
. The aliocatiun- of — resources and distribution of the
| , = JESOLUTE
final goods fmém ﬁ the central problems of any

economy,, |

SIS (Y A - e Ak e |

(e} What is a demand function? ]
bifE T e

(d) What happens to total product when marginal product is zero ?

1

AT T fl Z0E o TeoAr = 7

(e) What does a vertical supply curve imply ? , 1
ToTH @5 @iE [ p 2 '

(f/ Why is average total cost (ATC) greatler than average variable

cost (AVC) ? - - 1
. S b
T ARG THEE IS Yo a7 BT uifes 2 -
/2( State the meaning of microcconomics and macroeconomics.
| 2
qfEam] Sddie =i i wdeifer wel Fe)|
% Why does a budget line slope downward ? 2

GG AEH (@2 SEEne @enal g

4. If the total utilities of 4 and 5 units of a commodity for a consumer
are 56 and 60 respectively, calculate the marginal utility of 4 units

of it for him. 2
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3.

10.

I 5

CATSIGT G At T8 @fRKT 4 G S G633 ToraPieh e 56 W= 60
20 (91 A TERGE 4 e znﬁ:ﬁﬁ;?mﬁr@rﬁﬂ‘;laﬁu

State any two exceptions of the law of demand. 2
vifent RGR A 75 wfeas f|
Define the term “long-run” as used in production. 2

T TS TRTS Ay ) i |

State any two assumptions of the law of variable proportions.

a : 2
ARG Sepeires R Rizsiearn w1 sifSarmen s
Distinguish between supply and stock. - 4
(AT B e i<l orgda | |
OR /&i=<]

Explain briefly any four factors affecting supply of a commodity.

<ol AT mwmwﬁmmmwﬁmmw%w|

Explain the law of supply with the help of a supply schedule.
' 4
QU PR FRS @i [iEs) 2 ==

State the relationship between average cost (AC) and marginal cost
(MC) using diagram. 4

WWﬁWWMCJWWW{MCF&'W%MI

State the distinetion between explicit cost and implicit cost. Give
one example of each of them. 2+2=4

HT SIS SRR A S B9 slireee GHIz Twiase o |

Write down three characteristics of monopolistic competition. State
whether the output produced by a firm under such a market is
higher/lower than or equal to that of a firm under perfect
competition.. 3+1=4

7T ECON 13] Contd,



iR feriPenE TaRs R Y B aw asie TR 2ifedi
G B wffetiel o efSrfenERe e T Ul v @i oS

Hle<s /a9 (& A |
OR / /g4)

"Monopoly firm is a price maker” — Explain.

"R AR 2O @z W et — 3ofeyl =y |

o
13. Explain the two basic conditions of consumer’s equilibrium assuming
that the consumer consumes only two goods. 6

T (ISR, (R e A (19! 0 g 4T (o6 SR i 5¢ 701
IGT <P | |
OR / &</

Explain the concepts of change in quantity demanded and change
in demand using suitable diagrams,

%ﬂ@ﬁﬂwaﬁm&mﬂﬁmWWW@mﬁmﬂﬁa@amm
AT <= |

14. The demand and supply functions of a firm under perfectly
competitive market are given below :

Q, = 200 - 2P and
Q,=-100 + 3P
Find (i) The equilibrium price and output.

(i) 1I due to increased cost, the supply function becomes
Q. =-200 + 3P. what will be the changes in equilibrium
Price and Output ? 3+3=6

offl efsifrenes agie ammm 2SR @3 IR = @i e wE s e

<1 4999 -

Q,; = 200 - 2P 9=

Q. =-100 + 3P

(i) SRHE v SR AR g as=

(@) A JER AR @S T I Q=200 + 3P T, (SHFRE SR 7
Ul AR o ofveds 29 ¢
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OR / 5194
The total cost (TC) and prices (P) at different units of output of a
monopolist are given below :

() Find out the total revenue (TR), marginal revenue (MR) and
marginal cost (MC) schedules.

(i) Find out the equilibrium quantity of output (‘ ) (1+2+2)+1=6
GIRF] ﬂwﬁmmﬁaﬂmﬁﬁaﬁﬁwam T AT (TC) SR vl (P) ©&fe
el tTEl

(i) §2 EF (TR), 2f%e 9@ (MR) =i 2ife @@ (MC) b1 fAdise a1 |
(i) TReATE S SARE (Q) Wel i

Q TC P
1 20 15
2 35 14
3 45 13
4 S1 12
5 58 L
6 66 10 -
¥ 76 9
8 88 8
PART B — ¥ 9|
19. (a) What is the aiternative name of macroeconomics ? 1
Ffeam siffea e an & 2
(b) What is the significance of the 45° line in Keynesian income
determination model ? 1
(P R ol wifEE 45° muemER e & o |
(¢) What is the value of MPC when MPS is zero ? 1
MPS ¥ qi9 #i4j 2771, MPC 9 59 & 7
(d) What is foreign exchange rate ? _ 1
AP i g7 & 7

27T ECON 5] Contd.



16.

17.
18,
19,

20.

21,

%

(e) What is meant by appreciation of the currency of a country ?
1

A3 TR TR SR W e

(l What is invisible trade ? 1
S ey 2

Give any two examples of macroeconomic variable, 2

TR Seftafen seas Ricl 751 Twimmel T |

State the concept of depreciation in the context of national income

accounting, 2

a@ywefwmﬂ@wmﬁm fereit |

If the marginal propensity to save (s) of an e-conumy is 0-3, find out
thé value of the income multiplier. 2

<t SIS 2 AR AT oie! (s) 0-3 24, CoTREE i e S B

State any two measures of fiscal policy to correct the problem of
excess demand in an economy. 2

aﬁwm@mﬁﬁ@ﬁﬁmwgﬁaﬁa MSCPRIT Ao Rl 751 19%)
farar |

Give the concept of full employment equilibrium. 2

2 el SRR aREt SisERE |

What is deficit financing ? 2
91 Rerm & » |

What are the four factors of production ? Write down the name of
the remuneration to each of them. : 2+2=4
Teoiwes Tofw o1 T PiZod drereE wifRfies am B

Explain any four causes of disequilibrium in BOP., 4

(-0 S SIARIRIS™ gl b1/A5! T 2y == |
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Distinguish between factor income and transfer income. 4

To{Wig S O TR T e e (@Y€ |

It is planned to increasec national income by 31,000 crore in an

economy. How much increase in investment is required to achieve
this goal if MPC = 06 ? R

«f> waEEre Trew WY 1,000 & 55 3G F99 «iFFw 39 (2! MPC
= 06 Z7A ©E T GodIe 240 [HEn e sifesied 3 29 @i o

What is the meaning of government budgel ? Distinguish between
revenue receipts and capital receipts. 1+3=4

paEal arnens O 7 qreR i S el AT e e @y |

Point out fwo merits and two demerits of indirect tax. 2+2=4
A 99 701 @ SIS 7 (viE SelErE |

Explain the income method of calculating GDP. 6
I T4 TRAA SR O 2w Tero! Al |

OR / ©/24)
Explain the relationship between investment multiplier and MPC.
‘s wis i 2ifes (on gIqeR SIEE AE e 54 |

Briefly explain any four functions of a commercial bank. 6
afifens @ R 51/56) S 53 1 4 |

OR /9941
Describe the speculative demand for money.

Tuq FEeEe bifgwE Eg qedd <4 |
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